QUESTIONS: Lecture 8
Name your file Exe-8-Familyname; Return by noon tomorrow into MyCourses drop-box
1. In octahedral crystal field, transition metal cations with the electron configurations of d4, d5, d6 and d7 have the choice of showing two different spin states, high-spin state or low-spin state. Give the electron configurations for which the same applies in tetrahedral crystal field.
2. How many unpaired electrons the following ions have in high-spin state in (a) octahedral, and (b) tetrahedral crystal fields: Cr3+, Mn2+, Fe2+ and Co+2?
3. For which of the following ions (assume high-spin) would you expect to see (strong) Jahn-Teller distortion: Cr3+, Mn3+, Fe3+, Co3+, Cu2+. Explain why!
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